The Cosine Rule I

(\

REVISE THIS
IS Tt

1 Work out the length of side x.

& Not drawn

14 cm 8 cm
accurately

X [3 marks]

Xz (4 +3% - 21 14k 8 % (0S(AL)
X2 26F-RIHRY
X =2} BIHE

|6 on

2 Work out the length of side x.

Not drawn
6.2 cm accurately

[3 marks]

XY= () +6 - 2x6 2xE6x Cos(SY)
X = 20-F01H 1
X = /30-F0%I A1

X = 55 cm
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Work out the size of angle X.

Not drawn

20 cm 13 cm accurately

[3 marks]
19 cm

Cos(x) = 20%19™= 13"
) K 10%x14

cos(x) = O FF8A47368%
. = cog' (O 3F8947368Y)

X = 3%%

Work out the size of angle X.

25cm
Not drawn

accurately
17 cm

20 cm
[3 marks]

cos(x) = 258 13120
LA LR \F

cos(x) = O 60%305831Y%
« = co<' (O 60wFo583LY)

X = 518
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5 Work out the length of side x.

Not drawn
accurately

[3 marks]

= 45415 3 - 1 &8 % 13- 1w 08 (33)

X2 9390621208
x = JAY 46621208

1

6 Work out the size of angle x.

10 cm 13 cm

cm

Not drawn

accurately

14 cm

cos(x) = 0\ E=\ T
2 x\0 KW

cos(x) = 0-45353 14226
= cog (045363 14286)

X = glo
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Work out the size of angle x.

Not drawn

3cm 10 cm accurately

9cm
[3 marks]

N

cos(x) = 3+q+ -0
2Lx 594
cos(x) = -0 I8S1RS18S. .
+ = cog' (- 0185185185 )

X= \00}

Work out the length of side x.
Give your answer in the form Vk , where k is an integer.
Not drawn
V6 cm X accurately
30°
442 cm [4 marks]

X = (@Y_Jr (‘kﬁ\l~ 186 < 632 x s (20)
xF= 6 +32- 3x &

x = 3R - 4% - x-= b
= AR - WY DC:\]—(L—F

X= m cm
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9 ABCO is a sector with centre O.
B
A C
5 9
24 cm \5
(@)

D is the pointon OC sothatOD : DC=5:3
AO =24 cm
AD =36 cm

Work out the area of the sector.
OC= L4
W6+ =3
Sx 3= \5 (oD)

122 9 (DC)

cos(x)= 24 +18*— 6"
2% 2% x\S

os(>X\z - 0:6%3S
x = cos” (-0-6%2%)

[5 marks]

= I3V-4ULSU66 Area= 1334 mx 2y

360

630 F

Answer
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10 ABCD is a trapezium with AB parallel to CD.

A 7cm B
h &

:j 14 cm
15cm

D 20cm

Work out the length of line AD. [5 marks]

cos(x) = \§h+ 20" -I%
2xISx20

cos(xy= O H5
* = cog' (O-HS)
o = 44 S68008Y%
AYU\Q RO = PrVU\e, ABD as %e,\\j are
a\t e nare av\&\es

9= FEHE - xFx (Sx s(44-3..)
w= 123RS

Y = J\Z’&-%S

y = 111283049

Answer l \ ' \ cm
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11 Boat A and Boat B both leave the Port P at 12pm.

Boat A travels on a bearing of 112° and travels at a constant speed of 16 mph.
Boat B travels on a bearing of 220° and travels at a constant speed of 14 mph.

At 2:30 pm, what is the direct distance between the two boats. [5 marks]

220 -1\2= (OR°

626 = kO miles
It X2-S = 3S miles

= Y0 +3I8 - 2X GO XK LS x (05(10%)
X = 3620 24F+S¢§Y
X =/3620- 245 %Y

@3

Answer miles
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